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1. 2.

3. 4.

5. 6.

7. 8.

Write the algebraic 
expression:

a number y 
divided by 4

Write the algebraic 
expression:

8 less than the 
number t

Write the algebraic 
expression:

64 divided by the 
number g

Write the algebraic 
expression:

the sum of k and h

Find the answer. Be
careful to use the correct 

order of operations.
6 + 2 x 4

Find the answer. Be
careful to use the correct 

order of operations.

14 – 4 + 10 ÷ 2

Find the answer. Be
careful to use the correct 

order of operations.
6 x (7-2) + 4

Find the answer. Be
careful to use the correct 

order of operations.
(2 + 8) x (8 – 4)
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9. 10.

11. 12.

13. 14.

15. 16.

Find the answer. Be
careful to use the 
correct order of 

operations.
(3² + 5) x (4 – 2)

Find the answer. Be
careful to use the 
correct order of 

operations.
11 + 4 x 5

Find the answer. Be
careful to use the 
correct order of 

operations.
9 + 3 x 6

Find the answer. Be
careful to use the 
correct order of 

operations.
(4² - 4) x (6 – 3)

Find the answer. Be
careful to use the correct 

order of operations.

15 – 8 + 20 ÷ 4

Find the answer. Be
careful to use the correct 

order of operations.

7 x 8 + 32 ÷ 8

Find the correct placement 
of the parentheses to make 

the expression true.
24 – 20 ÷ 5 + 4 = 16 

Find the answer. Be
careful to use the correct 

order of operations.
3² + (4 x 6)
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17. 18.

19. 20.

21. 22.

23. 24.

Find the correct 
placement of the 

parentheses to make the 
expression true.

18 ÷ 3 x 3 x 2 = 4 

Find the correct 
placement of the 

parentheses to make the 
expression true.

6 x 7 – 21 + 10 = 11  

Evaluate the 
expression.

6² + (6 x 8)

Find the correct placement 
of the parentheses to make 

the expression true.
3 + 3 x 2 – 10 = 2

Find the correct 
placement of the 

parentheses to make the 
expression true.

4 + 5 + 2 x 3 = 25

Find the correct 
placement of the 

parentheses to make the 
expression true.

5 x 12 - 4 + 6 = 46

Evaluate the 
expression.
6 + 7 - 2²

Evaluate the 
expression.
8 x 9 - 6²
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25. 26.

27. 28.
Evaluate the 
expression.

37 - 4² + [ (12 - 3²) x (8 + 2)]

Evaluate the 
expression.

9² - [ (6² - 13) + (16 ÷ 8) ]

Evaluate the 
expression.

8² - [ (28 – 2²) ÷ 6]

Evaluate the 
expression.

8² - 7² x [ (16 - 2²) - (7 + 2)]
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Thanksgiving  Algebra Scoot
Name: ______________________________

1. 2. 3. 4.

5. 6. 7. 8.

9. 10. 11. 12.

13. 14. 15. 16.
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17. 18. 19. 20.

21. 22. 23. 24.

25. 26. 27. 28.
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Name: ______________________________

My task is to complete:

Thanksgiving  Algebra Practice
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Thanksgiving Algebra Scoot Cards

Answer Key

1. 2.  

t - 8

3. 4.   

5.  6.  7. 8.  

9.  10.  11.  12.  

13. 14. 15. 16.

y
4

64
g

k + h

14 15 34 40

28 33 27 36

12 60 31 24 – (20 ÷ 5 
+ 4) = 16 
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17. 18. 19. 20.

21. 22. 23. 24.

25. 26. 27. 28.

849 36

5 x 12 – (4 
+ 6) = 36

4 + (5 + 2) 
x 3 = 25

18 ÷ (3 x 3) 
x 2 = 4 

6 x 7 – (21 
+ 10) = 11  

(3 + 3) x 2 –
10 = 2

5156 60 45

Thanksgiving Algebra Scoot Cards
Answer Key
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